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L 4] 12,000 P

1 24| 85100 9%
%3 4 10| XD
Mg 2 2 5,200 3¢ 1
ME 1 1,000 19x 1/
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74 1 6| 21,100 3% 9
% 4 8| 26,500 35X 1
% 5 31 108,000 KN
% 6 6| 21,100 3% 9
E4 4 12,000  PX
# 5 9| 32,400 36x 9
# 1 o| 30,600 X T
B 2 4| 13500 59X Y
24 5/ 17,2000 50X
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B 1 10 36,500 50 9

B 2 ) 6,700, 3%

B 3 16 57,500 So% 19
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Bl 4 12 42,300 5% 1]

1 2 a700) T

RRARSEGRBSEER




£ 1 @ = Y K (EBRET) M3/ 3

ARNBRENEES GRE 2022512H04H
F FERL B A#EUVEH s %

2 2| 6600 30 ]

% 3 2| 72000  36x 2

W 2 7,700 g%
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B 3 3| 10,700 3 %

K 2 2 6,800 39X

B 4 4 12500 P
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